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& A COMPLEMENTARY COURSE IN SANSKRIT FOR MALAYALAM CORE
29) e ' 2C(01) SKT-ML : Kavya and Vyakarana
vad fae fagdam: | Time: 3kours Max. Marks : 40
w = oy fifieg e Instructions : Answer may be written either in Sanskrit or in the
Faeraras a2 1 2x{=2 main language. In Writing Sanskrit Devanagari Script
A ' ) should be used.
VII. Write two essays : . Decline any five -
30) Describe Kamsa's discussion with ministers. 1) 3@ -  wgH] |
OR 2)war - T
What are the characteristics of a Mahakavya according to Dandin.
3yd () -  HEw|
31) Give an appreciation of Canto 3 of Srikrishnavilasa. 4) 4 - g
OR 5)f|g - =gl
Enumerate the childhood deeds of Krishna in Gokula. (2x6=12) 6) 7 |
7) 9 -~ e |
8) 3IWg - U= | (5x1=5)
Il. 9) Split any four :
a) FHEHHTEH |
b) TS |
c) =THEy |
d) adEygEy |
g) TeH=H1I |
f) SfeeeamE? | (4xV4=2)
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10) Combine any four :
a) o1 + 3f |
b) S + 314 |
¢) F: + : |
d) %4 + #T |
e) HEtgT + 4 |

f) Tl + 59 |

lll. Answer any five in one or two sentences :
11) THIY SEBaEAvT | Who ? Why ?
12) FArnfatifasnerE: 7Y: | Why ?
13) el fftaem-ats=ad | Who 7 How ?
14) sAfaw=sam =g Fedfzd: | Who ? How ?
15) g=a1a- ufa 74t yiskdEeEd: | Who ? Why ?
16) H=aHd f449d qamEfed | Who 2 Why 2
17) Sireiea ifaeafanr @9g: | How ?
18) Fsim wfimf<ieg | Why ?

IV. Explain fully any two :

19) wyfuevaTTigsated
SIHSHTY] T feraHEr |
fauftgey yum adtaa
gt fegme ||

(4x14=2)

(5x%1=5)

OO S 3

20) PUTEHL TS99
HNeEH 7 AR |
e @ fasEn Fva:
Genneibei i el

21) efous oe facrs o
391 [EEFREE =an |
FAYSE OIS TevH
HAEGATEIATY | |

V. Annolate any three :

22) RwAIfEg ==
o feoereaefEi: |

Vl. Translate any two into the main language :

27) FORL HiAHEE FAGH
Tinfty geFyEeT afefeuEy
fi: yufse 3@ wane e

A A AR AT [a0: ||
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(2x3=6)

(3x2=6)



